Calcula las derivadas siguientes:

Dy=x>+5x" -1k’ + €
1 3 1

2)y=3x2 —x2+2x 2

1 4
+

3))’:% ﬁ
4)y =+/2x+ 2/x

5) f (t)=%+3—\7€
6)y = (1- 5y

7)f () = (3x—x3+1)'

8)y =3+ 4x— X

3z+2
2z+3

5
X
10)y=| —
)y (ij
11)y = 2X°v 2-x

12)f )=tV 3- 2°

o)t =

13)y = (x-INX* — %+ 2

\W

V1- 4w
15)y =y 1++/x
x-1

16)y =, [——
)Y 1

17)y = (x* + 3y O(2*- 5)
t?+2
18)s=
) 3-t?
4
X3 -1
19)y =
) (2x3+1j
a-x

a+x

2)y=(@+xna-x

14)z=

20)y =

Sol:
Sol:

Sol:

Sol:

Sol:

Sol:
Sol:
Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:
Sol:

Sol:

Sol:

Sol:

y'=5x(X + 4x* - 4)
, 3 3\/— 1
= X——
"ok 2 e
=3 _3x-_L1
Y= o0x 2& I
y,:l+\/§

J2x

et
tZ
y'=-30(1- ¥
f(x) =12(1- x*)(X- x>+ 1)
., 2-X

f'(t)=

y
, 5
t=—"—
(2z+3)
y= 5x*
@+x)°
. X(8—5x)
y 2—X
3-4t?
f'(t) =
\3- 22
y= 2X% = 4x+ 2
X2 =2x+2
, 1
7=———
(=)
y’:;
4 x+x\/§

, 1
y=—
(Xx+IVx* -1

y= 20 + 1) (2x° - 1)(&%3+ 2K— 20

10t
(3-v7)
365 (¢ - 1
(2x* +1)5
_ —2a
@
_ a—-3x

2Ja-x

S=

http://alfonso-matematicas.wikispaces.com/

http://alfonso-matematicas3.blogspot.com/




22)y = x> +x+1

2x*
W
2 2
24)y:1+m+x_2+n_2
m X n X

X NG
25)y = - -X
) a+b a-b
p
26)y = —~—
-a

27)y =X’ +a?

X3
28)y = 2ax’ —pte
y = sen’x
29)y = 2senx+ cos &
30)y =tg(ax+Db)

senx
1+ cosx

32)y = cotg® X

33)y = sen’t cog

34)y =av/ cos X

3ly=

35)y = 5(1- coég

37)y = In(cox )
38)y = In(tgx)

39)y = Insen’x
1+ senx

40)y = In

T, X
41)y = Intg| —+—
)y ng(4 2)
42)y =tg (Inx)

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:

Sol:
Sol:

Sol:

Sol:
Sol:
Sol:

Sol:

Sol:
Sol:

Sol:
Sol:

Sol:

Sol:

2x+1

33 (x* + x + 1)
A3 (2D7-x?)
1 m, 2
m x> n*> x°
52
“a+b a-b
_ XPH(p=m)x" - pa" |

(-]

y'=-10cotg 5 coec® %
y'=sen’t [3cost—sen’t )
. 2sen2x

B \Jcos X

y'=1003%en’ (Ej co{éj
2 2
y'=—tgx
2

y':
sen2x
y = 2cotgx

y= se€ (Inx)
X

http://alfonso-matematicas.wikispaces.com/

http://alfonso-matematicas3.blogspot.com/




43)y = sen(cod | Sol:  y'=-sent[¢os(cos

Sol: ‘=tg?
44)y =21 -1gp + o rewy
45)y = log(x* + 1) Sol: y= 2X
(x*+1)In10
1+ X Sol: , 2
46)y= In(Tj y=1_ X2
47)y = log, (x* — senx) Sol: Y= 2X — COSX
(x* —senx)n 3
48)y = In(x* - 2x+ 5) Sol: 3x*-2
x> —2x+5
Sol: -1 1
VX +1-x = -
= R —— y=
49)y '”[ 2 _1+Xj Vi+x® xP-1
50)y = e™ Sol: y=ale™
51)y = 7% ol y=2(x+1)7°* > On 7
52)z=a"’ Sol: e a"ha
6
e -1 sol: — 2¢*
53y = =
Ve Y ey
= (gx Sol:
54)y =10 ° y'=10"[n 10[€tgx+ X j
cos x
55)y = (senx)” Sol: .~ o) Eﬁ1+ In senxj
Y= (senx) cos x
56)y = X* Sol:  y=x*(Inx+1)
57)y =¢" Sol: vy & (1+ In x)X*
58)y = arctg (x* + 1) Sol: Y= 2X
1+ (x> +1)
X+1 Sol: 1
59)y = arcsen| — Y=
) ( J2 J V1-2x-x?
60)y = arccos(Inc Sol: -1
x@/1-In*x
senx Sol: 4
61)y = arctg| ——>— =—
o arcg(3+5009(j Y 5+ 3coX

http://alfonso-matematicas.wikispaces.com/
http://alfonso-matematicas3.blogspot.com/




